MA109 — College Algebra Fall 2015 N ) o
Final Exam 2015-12-16 ame: ec.:

Do not remove this answer page — you will turn in the entire exam. You have two hours to do this exam.
No books or notes may be used. You may use an ACT-approved calculator during the exam, but NO
calculator with a Computer Algebra System (CAS), networking, or camera is permitted. Absolutely no
cell phone use during the exam is allowed.

The exam consists of multiple choice questions. Record your answers on this page. For each multiple
choice question, you will need to fill in the circle corresponding to the correct answer. For exarmple, if (a)

is correct, you must write

Do not circle answers on this page, but please circle the letter of each correct response in the body of the
exam. It is your responsibility to make it CLEAR which response has been chosen. You will not get credit
unless the correct answer has been marked on both this page and in the body of the exam.
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Multiple Choice Questions
Show all your work on the page where the question appears.
Clearly mark your answer both on the cover page on this exam
and in the corresponding questions that follow.

1. Solve fgr 7 in: ' fpe -
*/jﬂ;éfe/ A (47 — 36)(r? — 25) = 0 ¥ }";'J o
Showba lage ZERO PRODuA =) | €% » ©
Possibilities: I’D@ PERTY o 5,4( = é%,,w
The only real solutions are 9 and £5. :

|

b) The only real solutions are 4 and 25.

(¢) The only real solutions are £5.
(d) The only real solutions are 36 and 25.
)

(e) The only real solutions are 4 and 0. D /_T
2. For which of the following equations is the number 3a solutmn'f’* 7@37‘ ydédtfﬂf- %
o ‘ Ot /no
} Possibilities: 7 (1 3) -2~ =T —~, ?/%’?' 4%

(a) 30° — 20 8 =16
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4. Solve for z. * @7007‘ /M"’r

é¢m "a::&”-z 2)= b 222 —-92+3=0
haa 770 2744#»"5{4)%&» T

v
Possibilities: Swm /s é’ 2 "q @S/d/' Sinee d.#/
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(a') 4 ;'_'?’ — .
~9+ /105 _ 9+ [La)2. 4(2(3)
(b) -T -\.:{’.: — ) “ t “ =~ ¥ 7-\‘ t‘ e F NN A
9+ /105 202
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L - } 3 l" .(‘i T )
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5. y\Fr;ite the g}_\sﬂ expression as a single logarithm. B Pr‘oolu.ef' ?

owtr rroper %‘ 3log(z) + log(dy) — log(9z

"ﬁ%@ /@(zf 1«5 it ,.’3-“@5“9) £y
POSSIbllltles 0 A e P el

(b) log (3z(4+y) —9—2) | iy ¥ Bl

(c) log (3z + 4y — 92)

(d) log (‘if)

6. Let f(z) =4~ Whlch of the following is f~* * /N VgKSE W m s é@
Possibilities: STANrsSe lnm _’L &é& '/'/Lc. I OU)‘ ;
a) 1 IS oriag o ",

Yy O e farchipe 5 P

[ 6 2 ; ] y -
) A/
(a) o _ T2,
() 15 i _ ,




7. The number of bacteria in a culture is modeled by the function n(t) = 60e°* where t is measured in
hours. When will the number of bacteria reach 25007 Round your answer to the nearest hundredth

of an hour. *&{Mﬂa v

Possibilities: Z &0 6’/
(a) About 13.15 hours 1_“‘“{;:!( 1'} i ) _ -
¥ : Pt p

(b) About 51.09 hours )& ‘a()“i = - 2 .-’-=-=“"=—‘“—"“ 1

Ci:)About1243houm | St , ' . :
|Use- ™ § _ 2 _7 '
(d) About 5.40 hours | "r’?::ri:h:{% > [N ¢ JL _
(e) About 3.73 hours T~ N ) £ /

8. Find an equation for the line through the pomts (— 4 ) and (5 12

/
Possﬂ)lhtles *Wm 0 a M /‘&7«—«35 .SLOPE

g — 4_“(3;—7)

()y+7_ 2a-4) Kkwith a Pof'rz«/é ;//a’w use WSMPEFOW

(d) y—5=>(x—12) "%
() y—12=—2(z —5) Y <
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9 VVthh of the following statements best describes the system of equatmns‘?

W//f" /Waff?%/‘m { T4+ y="7-" o 7 .@:-

2x+2y=8 —>»2,J v s X
//44-5 //7749’5@7" a:ra-/aﬂﬂl/ 5 T, 9
Possibilities: s~ Q/ﬂa_&,, Ny AT {‘ '
(a) The system is dependent. Two solutions to the system are (4,3) and (2,2). ;
One point that is NOT a solution to the system is (1,1). I
he system is inconsistent. Therefore the system has no solutions. “‘jﬂfh)( Sl V‘ "
(c) The system is consistent. It has exactly one solution which is (1, 6). r\jn “1f' e ‘“*4 e z*‘;’f{ A -
(d) The system is dependent. Every point is a solution to the system. }r;! - A, . ;“" . ,
V 3 "

|

(e) The system is dependent. Two solutions to the system are (1,1) and (7, 8).
One point that is NOT a solution to the system is (0, 0).




10. A merchant wants to mix peanuts that cost $1.50 per pound and cashews that cost $4.50 per pound
to obtain 39 pounds of a nut mixture that costs $2.90 per pound How many pounds of peanuf;s are

needed? *M/XMM S ) . } ‘ 7( — »-’.t‘

Possibilities: W
) 4.5 pounds § o : 27
P 2 gjs‘k"ﬂ‘ —_— —\——‘b? ' p - » S 7
0 & pounds 'y | 021«!“"" '
3 § ien 4 £ £7 ;
(c) 32.7 pounds , ¥ , Lol e =T DO 2
L 2T b= 2991 lird OV LS > 1 ‘
(d) 113.1 pounds = 7"~ ' s « 7 ‘,
oy ', _— }, N J . i" -"‘ .,. ,': J\ i ;:} E X ‘.” ‘:‘{ 2 |
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11. Let f(z) = 3z% — 1. Find

Possibilities:  Me- Ao/ £ 74 ML _ﬂ&* /y 7;;:2;%}-_(_";‘ -y _
| el

and simplify. (Assume h # 0.)

(a) 182+ 9h ~ T 4/,” Y Wt
by Bzh+3h” —2 ?"‘3 th la 1o/ DX tLxhTh )=
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c 177 4 . 2 /ad )
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12. Let g(z) = v/22 — 4. Find the domain of g(:t: @?r&‘m Z0
Possibilities: X évtn 1ots /@M - “‘->,? e
(a) [2,00) non - ﬂzz"wf " N

( e, —2| U [2, c0) 0‘\/\ . —
(&) (00, -2) U (3, 00) ’VDM " 1"?’¢au€,f>:.: |
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The next three problems refer to the same function.

13. Which of the following is a factor of P(z)? (See the top of the page.) k}i oy :::(
Possibilities: * I‘ﬁ P(_)—- O ”'Cﬂ (;x"' C.) 1S o ra-(;"' v‘,”'{?“'
(a) (’L'—l) : ‘4 { L1 ; | P, | Bl ‘e' - ”
B -5 ] ~ = 1252754 60-28 = — (8
@ -4 P4 22(4)-28 =t [To+118-28 = — 1 27
(d) ('II: _3) 4 : & , o )y : : :- » P o
(-2 - I
[ - ‘ + A d'h =
i £ . { “'.( ¥ b ‘{4 £ ¢ F . e ,"'

14. Determine the end behavior of the graph of y = P(z). (See the top of the page.)
Possibilities: Henel Wﬂ" /ab ol
(a)y—>—ooas.9:—>~oom1dy—>—ooasx_>_ooWﬂc- %—' }eﬂh

- J "y n j; ; g :W“’ o

(b)) y = cvasx —ooandy — ocoasz — —o0 >
— xwaszr—oowandy > —o0asr — —o0 i xy
' 4 W L
(d) y— —ccasz—socandy - c0asz — —x /4 ‘VF\_.»"
(e) No solution Yoo AS 2
<= 4 < "
Pz
15. Find the remainder of the division problem —-‘(-—% (S ee the top of the page.) 1)(2:)
Possibilities: *pme r rzw&n P(G) W O'p z—C
(a) 194 VG M,\w* A E ) rewride. Aivesar in Lorm
- e » | §
(b) T4z — 28 ?ﬂ L — s, ¥ L Z-¢ inorder-o find C
(©) 2 1 . Nl
(d) —28 /
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16. Suppose the graph of y = f(z) is a parab‘ola wi’rh vertex (—1, ) and goes through the points (O 6)‘.
Which of the following is an formula for f(z

Possibilities: :K 7/0,214"/’7—-—9 g' a—(x‘_/") +k
f()=4(a:+2)2_1 g’ ?omi' fo /h/ . = -:“';.

fla) =4(z +1)*+2 6 =a(0+],
f@=E-1"+2 ”D“%’ ’%V’ 4’

flz)=(z+2)(z+3) ~ f)fp Sf‘*" |
flz) = (z+1)(z +6) , +1) 2. l
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(e)
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17. Solve for .
6log, (z+5)=12 —

St
Krewrite /n t-'x/:onw/"d- Aorm N -
Possibilities: /%(?) z > ﬂ.- = 3? i MM:I

()ﬂf—f‘/ﬁ

(b) log, (45) . :
GIOg( ) : ' r v 1.
@gg: ,/C_w;f;ﬁ,x o
(d) z=—45 G =x2+5 5
(e) =0 ;
- r j - ) 4’.}.4
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18. Let P(z) = 72° + 42% — 31230 + 3220 + 4. List all possible rational zeros of P(z) given by the
Rational Zef§s Theorem (but do M to see which are actually zeros g ; cr/ d,

An
Possibilities: Qp rafimal 1oots = g ’ ‘Z )
(a) :El, i4; i?/4 I.? — ‘,.,’ - & v b3 /., - '.' //
_ Q= T =2 Tacdvrs: =i
b) 1, £1/2, £1/4, £7,£7/2, 274 " . 5 i
41 40 44, 217, 227, 24j7 O L T s S :é—
(d) +1, £2, +4, +7, £7/2, £7/4 e v b F '
() +1, £4, £4/7 lstnat =X+ 5 t—+— +— 4]
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19. When a high school basketball team charges p dollars per ticket, the total revenue R from ticket sales
is given by the formula
| R(p) = 2160p — 120p°.

| What is the team’s maximum revenue?-

Possibilities: A MI'MWS oceur ot W "'ﬁ 3““‘“‘* a
(@) 81085 Verdex s /-E b
(v) . - (hy K)=p (29* ) ?(,f?‘D

" ) “ CMAX

U
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(c) 38 N =5 === Y R
| $9720 4 i e Revenuy et

(e) $9980
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20. Let r{z) = x+i. Find the asymptotes of 7. Jé VA W M 205 In C{MOMMV‘ ‘

b e :

rof- feels;
Possibilities: 5’ HA oceer af raft "3'74"5
(a) The vertical asymptote is £ = —7 and the horizontal asymptote is y = —4. \
(b) The vertical asymptote is 2 = 1 and the horizontal asymptote is y = —7. " ‘ e
(¢c) The vertical asymptote is # = —4 and the horizontal asymptote is y = —7. ‘/—’f

-.‘ ]
(d) The vertical asymptote is £ = —4 and the horizontal asymptote is y = 1. e

@ The vertical asymptote is x = —7 and the horizontal asymptote is y = 1.

———

1 4«— afleets ondput
21. Explain how the graph of g(z) = (z + 5)° — 8 is obtained from the graph of f (€) = 2>
Possibilities: affeets mput <
(a) Shift the graph of f right 5 units and shift up 8 units to obtain the graph of g.
Shift the graph of f left 5 units and shift down 8 units to obtain the graph of g.
() Shift the graph of [ right 5 units and shift down 8 units to obtain the graph of g.

'5..

(d) Shift the graph of f right 8 units and shift up 5 units to obtain the graph of g. /
(¢) Shift the graph of f left 8 units and shift down 5 units to obtain the graph of g.

| §




The next two problems refer to the graph shown. In the picture below, the graph of the polynomial
function P(x) is shown.

22. For the graph of the polynomial P(x) drawn above, which of the following can you conclude about

P? K Lt bedarir of- gruph aetirmihed by leadiv,

Possibilities: €7

(a) The degree of the polynomial is odd and the leading coefficient is negative.

A ]
Yt

(b) The parity (even or odd) of the degree of the polynonual or the sign of the leadmg coefﬁment
can not be determined by the graph. « - EVlt. § NEPRTNE O ECBIAL Cbn

(¢) The defrlee of the polynomial is even and the leading coefficient is pOSltl{Ie

(d) The degree of the polynomial is odd and the leading coefficient is positive,

@Fhe degree of the polynomial is'even and the leading coefficient is ‘negative.“

23. For the graph of Etle polynomial P(z) drawn above, which of the following statements can be con-

divded? (z-g@ P(c) O¢-—=? 2=C z'w‘trc?vf-

(I ) (ac + 1) is a factor of P(z) | : HCrce, . i _
(II) When P(z) is divided by (m — 2) the remainder is six. r "~ (& ]

: ‘ ‘,’ - i . ¥ 1:_

(HI). z = 3 is a root with even multiplicity. —— ' M ‘

Possibilities:

(a) Ounly statements (I) and (II) are true.

w
&None of the statements are true. wl%’ QVU)}“&J{/
Only statement (III) is true. mu’,ho “U) ’Jp

(d) Only statement (II) is true.

(e) Statements (I), (II), and (III) are all true. /\/D k{, U‘*%‘ (“ \‘X




[ Formula Sheet: |

TCompound Interest: | If a principal Py is invested at an interest rate r for a period
of t years, then the amount P(t) of the investment is given by:

Nt
P(t) = Fy (1 + 1) (if compounded n times per year)
n

P(t) = Pye™ (if compounded continuously).

[Change of Base Formula:J Let a and b be two positive numbers with a,b # 1. If

z > (0, then:

log,(7) = i

10




